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i 0.52
[AFK-UF -ty 2558 XBR 0.22 -
HFER 1.01 1.29
ERR om 0.24
pER 111 1.73
Wik 0.64 068
BER 098 068
KRR 0.598 0.80
AR 1.55 -
HER 0.96 135
BER 0.52 092
FHER 0.63 1.10
B 1.79 157
AR 1.34 1.85
#HER 2.31 1.84
IR 0.26 157
HIHR 0.83 088
wHm 1.06 -
ISR 137 -
RER 0.86 062
3-1: ) 0.3 052
BER 10 060
2an 191 1.68
ZER 1.21 1.1
HEAR 112 1.38
X 1.35 105
XEF 108 0.97
£ B R 085 1.48
RER 1.00 0.41
LR 0.81 085
REDR 0.47 1.40
BER 3.22 0.5t
ELR 1.08 0.25
g 1] 0.68 1.28
Hifay ! 0.54 0.56
Ean 0.69 053
FR 0.28 .90
2ER 0.38 0.30
wHR 197 $.00
BER 0.72 055
#HHR 0.35 0.5
AR 1.00 0.60
mAR 0.32 1.0
AaR 0.23 -
B - 0.40
BERRR 0.47 on
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042 p<0.05

HHER 102 0.

E=FR 102 088
HER 058 0.76
BERE 1.39 0.8
VI 150 0.6t
} SRR 0.86 118
- FiR 096 13
. AR 1.14 i.13
: HER 052 093
HER 0.34 146 wmER 0.86 0.82
FRE 1.24 on FER 080 1.08
R 1.12 057 R 0.79 1.09
AENR 043 050 FHENR 084 10
HRR 051 2.37 HiRR 087 0.50
ZLR 343 357 BiR 110 1.42
@ 105 - AR 10 107
BHR 443 - E#R 053 1.14
RR - - LR 156 0.73

EHR 0.56 0.87 EHR 0.90 044 p<0 05
wER 1.76 0.92 L 0.99 097
B 0.58 0.52 HER 0.74 0.93
B4R 118 223 R 106 0.86
=SER 2,00 313 ZHER 0.66 0.86
HER - - HAR 0.60 0.85

WIBH 049 2.39 BIERRT 062 0.44 p<0.05
KIERE 1.40 1.62 K EAF 088 0.85
RER 1.14 0.36 SEER 109 1.10
HRR 1.73 - ZER 087 0.84
LR 238 1.7% LR 152 142
RIR 204 - BRERR 0.4 0.69
BRIR - 253 BiER 1.48 1.04
L1 R 084 - B LR 083 055
LEBR - - LAaR 0.87 1.05
OR - 1.32 ilfal- 0.39 0.73
ERR 156 2.42 25 129 0.97
FIIR - - &R 1.19 1.77
FHER - 1,32 iR (R} 0.86
EHR - 2.49 AR 1.04 m
FEHR 075 0.79 HBR 2.12 143
ZERR - - HER 183 2.55
HoaiR 322 242 B 0.43 149
RER 268 1.01 rERR 2381 2.06
XaR 104 322 SR 031 1.35
iR 208 - EifR 1.86 208
BRBR 141 1.04 ERRR 1.82 1.32
AR 1.60 - BR 166 0.85
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For s e— 0.80
/v e—RERE BER 094
HER 0.70 -
ERR 194 -
pan 2.4 1.00 -
s m 074 1.94 R - -
ERR 239 - HER - -
WA 0.6 1.08 XN - -
mER - - 5 AR - -
HAR 2.1 - HER 8.69 -
HER 0.77 0.59 BER - -
FER 064 0.32 FRN - -
WS 100 1.52 ERE - 39
#X)IR 0.76 0.68 ARIIR - -
BRR 0.7 - HRA - -
ELR - - f-{iit. - -
IR 0.91 117 BilR - -
R 242 157 w\HR - -
iLER 1.15 - WER - -
RER 0643 1.14 AHR - -
=R 0.51 on HRR - -
HER 117 0.90 BEHR - -
MR 1.08 2.06 R 262 -
=ER 1.15 1.52 = 1 - -
HBER - - AR - -
WERFF 0.44 0.55 ok T 706 -
KIRHF 1.85 137 ABE - -
AR 0.64 1.13 Wi - -
RR 0.81 - £.3:1 - -
VU 1.86 - bk V1T 16.26 -
REBR - - AR - -
BiER 1.13 1.41 RER - -
FIL% 052 3.3 LR - -
ESR 112 1.96 LR - -
=k 186 1.55 iT3al ) - -
#an 235 4.42 waR - -
FiNg 0.96 1.24 FNW - -
2R 065 249 2AR - -
maR 229 2.7 AR - -
AR 1.18 0.59 EER - -
AR - 1.44 ERR - -
b il .69 0.84 REGR - -
BER - 0.67 RAER - -
b1 0.80 - xR 141 -
L - 1.1 ER - -
ERAR 0.55 0.66 ERRR - -
AAR 2.16 - sigm - -
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